
ASSEMBLY INSTRUCTION

Page 1/2

228-0000013

1 M8 X 55(mm) x4

4

M6 X 40(mm) x4

5
M4 x1

A

Step 1 Step 2

C D

2 M6 X 45(mm) x4

B

 x1

F GE

3

M7 X 80(mm) x2

Step 3

 x1 x1 x1

 x1  x3  x3

6

M7 X 60(mm) x5

A

E

1

5

D

B



ASSEMBLY INSTRUCTION

Page 2/2

Step 4 Step 5 Step 6

Step 8

2

5

Step 7

3

3

5

1

5

5

4

C

5

6

Step 9

1

3

2

2

G

F

G

F

G

F

"Do not completely tighten the Screws"

“Ensure that all Screws are completely tightened”

228-000013



ASSEMBLY INSTRUCTION

Page 1/2

1 M8 X 55(mm) x4

4

M6 X 40(mm) x2

5
M4 x1

A

Step 1 Step 2

C D

2 M6 X 45(mm) x4

B

 x1

F GE

3

M7 X 80(mm) x2

Step 3

A

E

1

5

D

B

 x1 x1 x1

 x1  x1  x1

"Do not completely tighten the Screws"

228-000013



ASSEMBLY INSTRUCTION

Page 2/2

Step 4 Step 5 Step 6

Step 8

1

5

3

3

3

5

C

2

5

Step 7

5

4

"Do not completely tighten the Screws"

“Ensure that all Screws are completely tightened”

F

G

HUC39588

228-000013



1

M6 X 90(mm) x4

2 M6 X 70(mm) x2

3

M6 X 45(mm) x1

4

M6 X 13(mm) x6

5
M4 x1

A

Step 1 Step 2

B C

 x1  x1  x2

1

4

3

5

"Do not completely tighten the Bolts"

5

2

A

C

C

2

4

3

5

2

4

B

“Ensure that all Bolts are completely tightened”

ASSEMBLY INSTRUCTION 228-000013


	228-000003
	Sheets and Views
	Model


	228-000004
	228-000005
	Sheets and Views
	Model



